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01| T & H B 499 562 661 1,223
002 | 77 A H 650 746 811 1,557
003| k£ & H Hfr 358 358 341 699
004 | % 9 g i) 987 1,203 1,093 2,296
005| XK R Hr 732 894 902 1,796
006 | & & F H 1,356 1,684 1,583 3,267
007 | # 3 H 171 268 212 480
08| 5 4 H 819 967 1,051 2,018
009 | K f& H 534 728 711 1,439
010 | R H ) 996 1,320 1,428 2,748
011 | £ B F B 658 823 862 1,685
012 | & & H 874 1,150 1,279 2,429
013 | 8h H ) 554 747 843 1,590
04| & & H 885 1,123 1,142 2,265
015 | B B H 118 145 167 312
061 | XEREHET—TH 37 39 26 65
062 | XFEHETZTH 202 180 190 370
063 | XEHET=TH 16 37 61 98
064 | XEHEMTH 99 104 128 232
071 | 4A%HAHE—TH 34 28 44 72
072 | A%HABIZTH 269 270 225 495
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081 | M BT — T H 0 0 0 0
082 | FA T — T H 32 6953 42 695
083 | A B = T H 166 165 197 362
091 | lis#Hr— T H 82 82 106 188
092 | BT _—TH 91 248 409 657
101 | FMET—TH 104 100 108 208
111 | FSHBET—TH 124 135 136 271
112 | FSHBEIZTH 85 72 66 138
113 | FHFHET=TH 112 109 125 234
114 | FSHAETETH 135 136 156 292
115 | FTEFHEATH 157 114 167 281
116 | EFSHHBAIAKRTHE 147 138 138 276
117 | FEHETETH 123 140 157 297
118 | EFSHAI/\NTH 137 143 151 294
121 | EBFHI—TH 79 66 77 143
122 | EBFHAI_TH o1 65 62 127
123 | EZRFHI=TH 79 78 88 166
124 | EBFHAIMNTH 70 70 50 120
125 | ERFHTATH 103 111 115 226
126 | EBFHAIANTH 151 129 127 256
127 | EBFHETH 138 90 152 242
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